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PART -III

senflesfl leflwed / COMPUTER SCIENCE
(SO wHPID prdle eyl / Tamil & English Version)

[ Qrgs LHLCuaEmTEET : 70

STe 3ieTey : 3.00 wanfl CHIW ]
[Maximum Marks : 70

Time Allowed : 3.00 Hours ]
Sidleyenraet : (1) @aidg eHlamEs@hd gilwurs uSeurd o eTaTET GreLISEMET sflurisgé
Qamararayld. iFsILSeNd GempullLde, Deps sarTareniuumerflL b
o | anqurss Osfleliésan.
@ Beob oeg souy owdma wLLEGWL TIPSUSD G,
9113 5CETg (HeugsnH G Lweru®ss GCeuam®LD. UL RBI&GET cuereusn@
Quenfled LWATLHSGSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
' inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ -1 /PART -1
GOly : () eSSl amésEps@h elleLwafléEsa)b. 15x1=15

(i) Qer@éslul(Bérer HremE LrHH enLgalled Wlasab ghHyemLw
AoLows CsibAs058s GHUELOLE ooy Cerssl
GT(LPSELD.

Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. gpsredls Plevareuaid erg) ?
(<) RAM («2}) ROM (@) EPROM (rr) PROM
Name the volatile memory.
(@) RAM ) ROM (¢) EPROM (d) PROM

2. ydwer Qupsegsdid A+A= ?

(=) 1 (<) A (@) A () §
In Boolean Algebra A+ A= ? /
@ 1 ® A © a (d) 0

3. @pep uwerr QWEs SwlIDhE THEHESETLH :

(<) MS-DOS (<=t) Sarden (@) yeféev () efNewrGLmev
An example for single task operating system is :
(a) MS-DOS (b) Linux (¢) Unix (d) Windows

4.  a=5 QuUigsHE e a :=a—1 Qunflusne 1Ger a -6 L :

(=) 3 (<=4)5 ' (2) 2 (FF) 4
If a=5 before the assignment a :=a—1 after the assignment, the value of a is :
(@ 3 (b) 5 () 2 (d) 4

5. wLEAPE pemerit C QLMD erafld sLELUITE uniey arser afiGL QukiEb ?
1) si
(2) while C
(3) s2 ]
(4) S3
(<=1) S1; S2; S2; S3 (<=4,) S1; S3
(@) S1; S2; S2; S2; S3 (FF) S1; S2; S3
If C is false just before the loop, the control flows through :
(1) s1
(2) while C
3) S2
(4) S3
(a) S1;52;S2;S3 (b) S1;S3
() S1;52; S2; S2; S3 (d) S1;82; 83
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QeraumeueTalpmiaT 6rgl gredariiseaiar Laamigs oida ?

(1) long (<) signed (@) short (FF) int
Which of the following is not a data type modifier ?
(@) long (b) signed (c) short (d) int

GeTeu(Hd WL &G TSSO (WPeD @Quiki@Gn ?

for (int a=0; a<1l0; a++)

(=) 9 (<) 0 (@) 11 () 10
How many times the following loop will execute ?

for (int a=0; a<1l0; a+t+)

@ 9 ) O (c) 11 (d) 10
Hreflen Qewerssd by AewpsadleBhg) QgTLmIGLD ?

(<4) main() (<) isalpha() (&) islower() L(rF)  isdigit()
Which function begins the program execution ?

(a) main() (b) isalpha() (c) islower() (d) isdigit()

2@ SLO@m Melliy Spsameur) QarHEsuuL_(DeTeng).

struct Time

{

int hours;

int minutes;

int seconds;

}t;

CoCa 2_drer Siflefi9é seconds eremp &.HaH wrhlew emeuhouamaudmIeT erg)

GD&EDs 7
(<31) seconds (<2p) Time.seconds (@) t.seconds

A structure declaration is given below.

struct Time
{

int hours;

() Time:seconds

int minutes;
int seconds;

bt
Using above declaration which of the following refers to seconds ?
(a) seconds () Timeseconds (c) tseconds (d) Time::seconds
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10.

11.

12.

13.

14.

Glereu(meuaTeupmIET eTEI LIWETT euenFpd@Gd ey alans ?

(=) o eraimr () Qe (@) Qurger () Wigea
Which of the following is a user defined data type ?
(@) int (b) class (c) object (d) float

Qens@peilan o plILSMET DEIEGBDHE ey QewpEd LGNS ?

(<1) + (yera) (<) : (epsampuera])
(Q) = (auerQudeme) (%) ; (SienyLidrar)
Which operator is used to access the class members ?

(@) . (dot) (b) : (colon)

(c) = (scope resolution) (d) ; (semicolon)

Ueraumeuareupmier eyl QeuheammsErsE Caumpul L Qurmer o draTems
Gilsdng ?

(1) Qewped uefllgy (=) Qewpamm wewtldl @ Ly

() Qewnur® uasilbigLiy () 2 miy uesiblgliy

Which of the following refers to a function having more than one distinct meaning ?
(@) Operator overloading (b)  Function overloading

(c) Operations overloading (d) Member overloading

wyyfib Cewdapampulis, yiu Qasew addmhs e maursstiuang ?
(1) smelsasILL L @)ensd @ (<) SgLiumL. QendE

(@) Qewmnsam (FF) SI(HeUT&s&LD
Inheritance is a process of creating new class from : A
(@) derived class (b) Base class

(c) Function (d) abstract

sLL ellGprgLons CurgossErses Sl és smigw cuafls Blréoser

(=) @eeus QuenGlLmmer (=) @eveus Qummer

(@) QuenGummer (FF) eumievaer

Commercial Programs made available to the public illegally are known as
(a) free software (b) freeware

(c) software (d) warez
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15. TSCIl -enn efNfleurdsid ?
(1) Tamil Scope Code for Information Interchange
(<2,) Tamil Script Code for Information Interchange
(@) Tamil Scope Code for International Interchange

(/) Tamil Script Code for International Interchange

Expansion for TSCIL

(@) Tamil Scope Code for Information Interchange

(b) Tamil Script Code for Information Interchange »
(¢) Tamil Scope Code for International Interchange

(d) Tamil Script Code for International Interchange

U@ - 11/ PART - 11

@Oy : eemauBuen g SNaTESEHEE Qe wellGseyd. efernm erawr 24 -&(&
sL_Lmuwons el waeilsEseLb. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16. ewwé Qruassder (CPU) uGdHsdr wreal ?
What are the components of a CPU ? ‘

17. Hlye soyedr L i eremmimed crerest ?

What is a program counter ?

18. Qemsy Lela@h erenpmed Grevent ?

What are called standard icons ?

19. &L@UUIL® UMl SaphpiseT wree 7

What are the control flow statements 7
20.  setw() euigeuenLOLIL| ENSWIT@HLD Qawpaadlern Lwe ereven ?

What is the use of setw() format manipulator ?
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LIOGIHEUTEHSBLD GTETDITGD GTesten ?

What is Polymorphism ?

ueflfl@és Wirwrd CewpGhsemers L iguwelHs.

List the operators that cannot be overloaded.

oolafli ereped 6TEvE ?

What is phishing ?

Wereum Blrefler Qeuafiuian erpss.
#include<iostream>
#include<string.h>

int main ()

{
char strl[50];

strl1=“"COMPUTER SCIENCE”;
cout<<strlwr (strl);

cout<<strlen(strl);

}
Write the output of the following program.

#include<iostream>
#include<string.h>
int main/()

{
char strl[50];

str1="COMPUTER SCIENCE”;
cout<<strlwr (strl);

cout<<strlen(strl);
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@& - 111/ PART - 111

GOy @ asTeug Spo! AerssEns@ eloLwealssab. oblenm cret 33 -&5®
sU_Lmuwng e wal&Esan. : 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.
25. Qar@astul(Berer @pblency cresmeneu eraianflena Hpib ufempflene eramanis
WLIHDIS
101110101,
Convert the given Binary number into its equivalent octal and hexadecimal number.
101110101,
26. @Quss ewlnder sl A sener UL ig W HE.

27.

28.

29.

30.

31.

32.

33.

List out the key features of operating system.

S|(HEULDTESLD ETETDTE) Gremet ?
What is Abstraction ?

SHS&PHE eTemmIed eremen ?
What is Recursion ?

srisseiian ieflewl Lpl An GHUL TSI,

Write a short note on Array of strings.

< sflsefean auemsser wWreal ?
What are the types of constructors ?

private, public, protected sramyflee umkigsmer CanuBsss.
Differentiate between private, public, protected visibility modes.

501 @aenus sDeISPSLD Ap GHLY auenys.

Write a short note on Tamil Virtual Academy.

for L&ms LWaLRSS 1 (ps® 10 aeny 2.arer Tamsaiien QLT Fal Lo
QauelA@d C++ Hired eT(p&!S. -

Write a C++ program to sum the numbers from 1 to 10 using for loop.
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u@d - IV / PART - IV
GOy : iemensgl ellamsaEns@n allamLwassab. 5x5=25

Note : Answer all the questions.

34. (=) Qereumeuaiaipenn eNerd @,
(i) ewUSFE SFFLCOLTH
(i) wogr sl ueipsd
(i) ulerLd GO / QR GHWSEH LigLiLires
S|60605

(<) &Cy Qsr@ssiLLRater A, B wpmib C wrhlsaflen wéliLjgmen gemdledlBha!,
LHAPraTN&E FWYDHAwrs wrHmw AeursEHiy wHmb QB naw
SLLOWSSL. SLUSGHEWLLLL Rertetulg, B wbrilésrear  wE UL
A wrHldmpBgIb, C wrilésrear LY B LIl mbgIb, A wrHésTer
wgliy C wrHuledmhgIL QuDLILIEHLD.

A B C
(@) Explain the following :
(i) Inkjet Printer
(i) Multimedia Projector
(iii) Barcode / QR code Reader
OR

(b) Circulate the contents : Write the specification and construct an algorithm to circulate
the contents of the variables A, B and C as shown below : The arrows indicate that B
gets the value of A, C gets the value of B and A gets the value of C.

I3

Y
Y
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(1) peTQwelulen LIt &aDisener Glend G,
S|V

() ooy Gamdliiy L@ erenprey eremar ? gCagib @@ mipey Comdliy
wLE®S QuImSSOTE THHSIGSHT_HL6 eilarsEs.

(a) Explain the characteristics of a microprocessor.
OR

(b) What is an entry control loop ? Explain any one of the entry controlled loop with
suitable example.

(=) () &l(s : 11010102+1011012'
() &f&s:  1101011,-111010,
360605
(<) LAOY AP SIMPSSH PP 5EDHS THSSEETOL asEs.
(@) (i) Add: 1101010, + 101101,

() Subtract: 1101011,-111010,
OR

(b) Explain call by value method with suitable example.

(@) C++ Brme e@arsguspeb, Quscusheh Gaupy Gargw
g Blepeg&ener 6T (Lpg)s.

VN
(=) Qumner Cprée Braréssdlean Haranpser wrama ?
(@) Write the important steps one must follow for creating and executing a C++ program.
OR

(b) What are the advantages of OOPs ?
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38. (<o) Wemeuapid C++ [Flyeller e_cmer Genpaener H(mEE!s.

()

Debug the following C++ program.

Output :

Enter First String : COMPUTER

Enter Second String : SCIENCE
Concatenated String is : COMPUTERSCIENCE

Program :
~INCLUDE (iostream)
~include<string.h>
using namespace std;
class strings
{
PUBLIC;
char s[20]; .
VOID getstring(char str[ ]):

strcpy(s, str):

void operator+(strings);
}: |
void strings :: operator+(strings ob)
{
strcat (s:ob:s});
cout>> “\n concatenated string is:”<<s;
}
int main(]
{
string obl, ob2;
char stringl[10], 'string2[10];
cout>>"“\n Enter First String:”;
cin<<stringl;
obl.getstring(stringl);
cout<<“\n Enter Second String:”;
cin<<string2:
ob2.getstring(string?2);
obl+ob2;
return 0;
}i
2|6vevgl [ OR
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Write the output of the following C++ program.
#include<iostream>
using namespace std;
Struct Student
{
int age;
float height, weight;
} m;
void main ()
{
cout<<“Enter the age:”<<endl;
cin>>m.age;
cout<<“Enter the height:”<<endl;
cin>>m.height;
cout<<“Enter the weight:”<<endl;
cin>>m.weight;
cout<<“The values entered”<<endl;

www.TrbTnpsc.com

cout<<m.age<<"“\t”<<m.height<<"\t”<<m.weight;

-00o0-

Knidly Send Me Question & Answer Keys to Us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

